KAEZA XTI LD (RR D EBEAY0.120pm L ED B %K) (B{sr: H)
i (X ) BT 4 HIER% ERRS | FERk4 | FRS | FR6 | ERT | FERS | TR | FR10 | FR | FR12 | RIS | FR14 | FRRI5 | TFR16 | FRR1T
RERAT R AKX FIREERE 72— 0 0 0 2 3 0 0 1 1 3 2 0 0 1 0
RERIIER e X R 0 0 2 0 1 0 0 6 0 7 4 1 1 2 3
KB dEE/IX e 0 0 1 5 1 0 0 2 2 1 2 1 2 0 2
RERmE)NX e ) || X R 0 0 1 3 1 0 0 0 1 1 1 2 2 0 3
KR EFX [ 1L e AR 0 0 2 3 2 0 0 0 2 3 0 1 1 3 4
RERMERX RE PR 1 1 4 5 4 5 3 4 2 6 6 7 3 5 3
RBRTIE R X BN 0 0 1 7 4 1 0 6 3 10 2 5 3 3 4
KEEmEZIIR FEILINERR 0 0 0 4 0 0 0 3 1 3 1 0 2 4 4
KETEFX E5 R 4 1 4 5 4 2 1 4 3 9 4 5 2 4 5
AR R X 5B PR 0 0 0 1 1 0 0 1 1 1 1 0 0 0 0
NV i = PR TN 0 0 0 1 0 0 0 3 0 5 2 2 1 0 1
ARHEREX kAL /NER 4 1 2 5 5 3 2 2 1 4 2 2 0 1 4
RERATRERX R PR 0 0 0 1 1 0 0 2 1 4 2 1 1 2 1
KEEAEZIIR mETRAE — — — — — — — — 0 1 0 0 1 1 0
il DIRF 0 0 4 4 2 0 0 9 3 1 2 0 1 0 1
il EF 0 0 0 1 1 1 0 6 1 1 2 1 1 3 3
il RiE 0 0 0 3 0 0 0 0 2 4 1 0 2 1 1
il Eodf] 3 2 6 7 2 0 0 9 4 5 2 3 3 3 2
P30l =% 0 0 0 0 0 0 0 1 1 2 1 0 0 2 1
il BB 3 4 8 7 2 4 1 7 7 16 10 6 7 7 6
il EER 3 3 8 11 3 1 2 17 3 15 7 4 9 6 8
il BEILE 7 2 10 5 1 1 1 16 2 13 3 1 6 3 5
il i 4 4 7 8 2 0 0 7 5 4 4 3 5 5 5
FHET FHBEGRAE — — — — — — 0 4 2 4 0 3 0 2 1
FFETH FEIFER 0 3 3 2 0 1 — — — — — — — — —
B FFH 2 0 3 9 6 0 5 5 1 7 2 4 2 9 2
L] F R 2 0 3 3 3 1 0 4 1 4 0 0 0 0 0
BT BT EASE 2 0 0 4 1 0 0 1 2 5 0 1 0 1 0
WwHET W EEE 0 0 0 8 3 0 0 0 0 8 2 7 2 2 2
WHE™ wHEmALEEE 1 1 3 11 11 5 1 16 6 16 3 9 2 6 6
WHEM wHEIE 2 3 4 7 7 3 0 0 0 0 0 1 0 1 0
RAREN RAERRER 0 0 0 0 0 1 0 1 2 1 1 0 0 — —
RAEN RAENR 2 2 5 5 1 2 0 0 1 0 0 0 0 2 0
=X = 3 1 1 3 0 0 0 8 3 10 4 4 1 10 2
=X =t 2 9 0 5 1 1 0 5 2 3 1 0 0 6 3
BIE™ BIEWEEE 0 2 3 2 0 1 1 7 3 0 1 1 0 2 0




RAEZA XTI LD (RR D EBEAY0.12p0pm L LD B %K) (Bfsr: H)
i (X ) BT 4 HIE R % ERRS | FERk4 | FRS | FR6 | AT | FERS | TR | FR10 | FR | ER12 | RIS | FR14 | FRRI5 | TFER16 | FRR1T
sFO™ SFOREERT 3 1 2 3 2 0 0 2 1 5 1 0 0 0 0
SFO™H F—AER(EH) 1 0 2 3 2 0 0 0 0 3 0 1 0 0 0
SFAH F_AIER(KH) 2 0 1 4 1 0 0 2 0 3 0 1 0 0 0
sFO™H FZAER (85) 2 1 3 13 0 1 0 1 0 3 0 0 0 0 0
AT EES — 1 1 0 0 2 0 5 0 3 1 0 1 3 1
wA™ WA TR 0 5 1 5 1 0 0 6 1 4 1 0 0 6 1
AT F-AE 0 8 1 1 1 1 0 4 0 5 0 0 3 8 5
wA™ FB 4 5 2 5 1 0 0 5 2 5 0 0 0 4 0
FATH FATEAT 3 1 0 3 4 0 0 0 0 0 0 0 0 1 1
I\E™ I\ERERT 3 0 0 4 1 0 0 8 1 3 0 1 1 0 0
RIEFFH SRIEFHRERN 0 0 0 — — — — — — — — — — — —
RIEHH £V — — — 0 0 0 — — — — — — — — —
RIEHH Jb R{EEF — — — — — — 1 8 — — — — — — —
RIEHH agasle i — — — — — — — — 3 6 1 0 2 3 1
RIEHH RIEFHERN 0 1 5 2 0 0 0 4 3 2 1 0 — — —
=BT EHRAT&A 0 5 8 13 4 5 4 5 3 12 12 6 15 10 9
BRI BENH& 3 3 1 7 3 1 0 4 3 7 2 1 3 2 2
BE/H jpd:s] 1 4 1 2 1 3 1 1 6 9 4 4 5 6 1
SAIRERET =HT A REE — 9 4 10 3 4 2 9 3 9 15 7 15 7 10
WET RpfHBEE 72— 4 1 2 3 2 0 1 0 0 1 0 0 0 1 0
WEM KIFEK 1 0 0 0 0 0 0 0 0 0 0 0 1 0 1
REM REMERT 4 3 1 1 2 1 0 5 0 5 3 0 0 2 3
IR R BN 2 1 5 4 3 5 1 9 2 7 9 4 4 4 2
MRT FINER 2 3 3 — — — — — — — — — — — —
IR AESRER 2 1 — — — — — — — — — — — — —
RS R ILIEfEERR 2 8 4 10 4 5 2 9 1 10 11 5 8 6 7
R R &A 1 0 1 0 2 0 0 4 0 1 0 0 0 0 0
MEM PAIEM&AT 0 0 3 9 5 4 1 1 0 4 0 1 2 4 1
FEM FEME 0 1 2 9 3 1 1 5 2 4 1 0 0 7 1
BAaT = A PR 2 0 3 2 2 4 0 8 3 5 2 2 2 1 2
EA T BATAEERtE I— 0 0 2 4 0 1 1 3 1 2 1 0 0 0 0
=AaTT PIREE 0 4 1 6 1 2 0 3 4 3 3 — — — —
ERT Sha /R 1 1 1 3 0 2 0 0 4 0 1 0 1 — —
=Aa T A /N 2 5 3 7 1 5 2 7 2 12 2 1 5 0 —
BHFm BT — — — — 1 0 1 5 4 5 3 2 4 4 5
BAHFN BB FR/NER 5 0 0 4 1 0 0 0 2 3 0 0 0 5 7




FAEFEA XA DR DR EEAHY0.12ppm L LD B %) (Bfiz: A)
i (X) BT HIE R4 RS | FER4 | FRS | FR6 | AT | FERS | FRR9 | FR10 | TR | FR12 | RIS | FR14 | FRI5 | FER16 | FERk17
E N RARTEEREREE 52— 3 1 0 2 0 0 2 11 2 4 1 0 0 1 0
LN RARTEEITE 9 1 2 9 1 7 3 12 2 8 1 1 6 1 3
REH SRETER 0 0 0 1 1 1 1 5 1 1 2 0 0 1 0
REF™H KRBT 5 3 1 0 0 0 1 1 0 0 0 7 8 9 6
MREam e 0 1 2 3 1 1 0 4 1 4 3 0 0 2 0
S0 EARE%5 1 7 1 4 1 4 0 9 3 2 2 1 1 2 1
HE HR BT HE ER BT 1% 15 4 0 6 6 5 1 1 3 0 0 0 1 0 1 0
iR ET L ET 1% 35 0 0 0 1 1 0 1 4 1 0 0 0 0 0 1
W ET ZF 0 0 1 3 0 0 0 4 1 1 0 0 — — —
Wi BT R 0 3 0 3 1 1 1 5 2 2 0 0 — — —
W ET g3l 0 3 0 5 0 0 3 3 1 0 0 0 — — —
R SRR 0 0 0 0 0 0 0 0 0 — — — — — —
F AT REMRMRE2— 0 0 0 0 0 0 0 — — — — — — — —
FEMET ERBET&HR 0 0 0 1 0 1 0 1 0 0 0 0 0 0 —
2 Shh& 0 0 1 2 1 0 0 0 0 2 0 0 0 0 0
Emh T8 0 0 1 2 0 0 0 0 0 — — — — — —
AINEET RF/NER 0 — — — — — — — — — — — — — —
NEN MR IE AR 0 0 0 0 0 0 0 — — — — — — — —
IR ERF/NFRR 0 0 0 1 0 0 0 — — — — — — — —
EiEh EEm&a 0 0 0 0 0 0 0 — — — — — — — —
BHFm PR F MR 0 0 0 1 — — — — — — — — — — —
LN HERRHREFEREL 59— 0 0 1 3 1 0 0 0 1 0 0 0 0 2 0




